SWOT INSTITUTE
3-DIMENSIONAL GEOMETRY

XII-TEST
Time : 1 hr.
1. Find the direction cosines of a line which makes equal angles with the coordinate axes.
2. Find the shortest distance between the lines
r=(@+27+k) +ai-j+k) and
?z2?—}—l2+p(2?+?+2|2)
3.  Find the angle between the lines whose vector equations are
r= (?+ 2?+3I2)+7L(?—3}+ ZIQ) and
?:4?+5?+6I2+u(2?+33+ﬁ)
4.  Find the shortest distance between the linens whose vector equations are
r=(-1)i+(t-2)j+(@3-2t)k and
F=(s+D)i+(2s-1) j-(2s+1k
5.  Find the values of p so that the lines 1-x Ty-14 2-3 g 127X _¥=5_8-2 o a
2p 2 3p 1 5
right angles.
6. Find the equation of the linen in vector and in Cartesian form that passes through the point with
position vector 2i- ?+ 4k and is in the direction i+ 2?—I2.
7. Find the equation of the plane through the intersection of the planes 3x —y + 2z — 4 = 0 and
X +y+z—2=0andthe point (2, 2, 1).
8.  Find the equation of the plane through the line of intersection of the planes x +y + z = 1 and
2x + 3y + 4z = 5 which is perpendicular to the plane x -y + z = 0.
9. Inthe following cases, find the coordinates of the foot of the perpendicular drawn from the origin.
2x+3y+4z-12=0.
10. Find the equation of the plane that contains the point (1, —1, 2) and is perpendicular to each of
the planes 2x + 3y — 2z =5and x + 2y — 3z = 8.
11. Find the coordinate of the point where the line through the points A(3, 4, 1) and B(5, 1, 6)
crosses the XY-plane.
12. Find the vector equation of the line passing through (1, 2, 3) and parallel to the planes

?.(?—ﬂ 2I2) =5and ?.(3?+ ﬁ+l2) =6.
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